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1 42x6 = i 122-02 = 1| $10x6 + (33x9c) = . What is a half of tweniy?
15 1523 = 145192 = | 2| soxa s (77xl0) = f 2. How much wilt it cost if you buy 59 roses at 50c each?
! o i 3. Three hundred and twenty-seven children usually go to a
i3 36x8 = 196-45 = 3248 + (99xZc) = B school and foriy-iwo stay home sick. How many should be going
; 48x4 17.1-5.0 $55 + (3333 fo the school?
. = d-aU = X Xal) = : "
’ " #5 | 2 “Whatis 1 of 2407
5 16x8 = 214-19 = $4x2 + (11xdc) = | . Two hundred and thirty subtract one hundred and sixty?
] 8.1x9 = 252-65 = $6x4 + (77%50) = ;| 6. You have nine hundred and seventy dollars and you wili spend
t : half. How much money will you have left?
17 72x8 = 28.5-94 = $1x + {99x60) = 7. Afarmer planted 909 tree seedlings. Only 781 of the tree
8 Bdxd = 31.9-8.4 = $3x6 + (33x7¢) = algg\?\fi?ngs grew into adult trees. How many tree seedlings didn’t
19 54x6 = 185-76 = $9x2 + {11xBc} = 8. $4.80 multiplied by 67
10 21x3 = 10 21.7-34 = 101 $7x4 + (77x1c) = 9. $18.50 subtract $ 9.70
- a7 _ 10. Eight lots of $4.00 were coliected for a charity. Add 30 lots of
i 35%5 = m 165-9.7 = 17 888+ (99¢c) = 50 cents to find out the total amount of money collecied.
12 74x3 = 12 19.8-8.9 = 12| $5x6 + (33x3c) = 11. 39.9 sybtract 3.88.
13 B2x4 = 113 244-54 = 137 $2%2 + (11xde) = 12. Fifteen children sach have $10.00. How much is their combined
total if every child spends 33 cents?
14 28x7 = 14 238-6.1 = 4] Sixd s (77x5e) = 13. 92 lots of 5 cents, added to 56 lots of 10 cents and 7 lots of
15 630 = 15 286-9.7 = 15| $6x8 + (99x6c) = 20 cents equals?
14. 940 subtract 450, add 90 divided by three and multiply the
16 77x7 = 16 315-56 = 16| $3x6 + (33x7c) = answer by 27
17 45%6 = 17 26.9-39 = 17| $4x2 = (11x8e) = 15. One-fifth of the cakes disappeared off the plate. How many cakes
: were there still on the plate if there were 35 to begin with?
18 49x5 = 18 des-2i = 18| S9xd + (77x1c) = 16. Write ten thousand eight hundred and eighty-one as a numeral.
19 5.9%8 = 15 12.8-19 = 19] $7x8 + (99x2¢c) = 17. The sum of 60 + 60 + 50 + 50 + 40 + 40 is?
20 78x7 = 20 399-28 = 20| $3x6 + (33x3c) - | 18. What i the difference between 850 and 857
i 19. What is the value of 9 in the numeral 46977
Score ........ Scare ........ Score ........ \20. Which is greater 376 —243 or 578-4767 J
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: CUAUSWER
‘ . What is the sum of ten, eleven, five and aight?
2 2 2 J‘ . John is 72 years old. How old was he 5 years ago?
3 3 3 | . How many days will equal four whole weeks and five days?
‘ 4 _ 4 4 : . How many more must be added to 116 to make 1387
5 ' 5 5 . Complete this number pattern by finding the missing number.
? ‘ : Cob 54,49, ...39, 34.
6 6 R .
6 ! B 6. The product of six and seven is...?
g : 7 7 : ] .
i d i | 7. Find the sum of 34, eleven and 9.
10 10 | -1 8. Take 6 from 50.
Lff 3 [ o 8+0= ° B+7= 1'9. What number is 17 less than fifty?
410 12-0= ; 19 7-5= g 10 6-2= { 10. What number is nineteen more than thirty-one?
o1 8x3 = 1 2x5 = M 1x8 = | 11. How many must be added to 21 to make 282
|12 284 - . 12 4545 = |12 24+3 = '| 12. How many must be taken from 315 to leave 1007
|3 o+d = |13 B+1= |13 S+T= ; 13. Take 9 from 18 and double the answer.
|14 10-7 = 14 17-5= 414 18-9= 14, What is the cost of @ apples at 8¢ each?
115 Ex9 = 15 5x2 = 115 6x9= 2 15. Multiply the number 3 by number 2 and by number 3.
|16 56 -8 = 16 2010 = |16 90 -9 = : 16. Subtract ten from nineteen and multiply the answer by seven.
7 4+1= 17 4+0 = 17 1+8= < 17. If sixty minutes equal an hour, then how many minutes are in
B . 5
|18 7.0 = 18 615 - 18 416 = & quarter hour?
. : ?
19 18-8 = 19 159 - 119 14-5 = . 18. Ten more than the product of 5 and 8 equals?
‘ ] 119, th ) .
o0 135 = -:::,30 0-0< ._‘\20 9-4- :4 19. Total the cost of 2 dozen eggs at $1.70 per dozen
Y ey oo iy T e B s 20. If sixty-three laps of a pool are completed and ning children swim
: an equal number of Iaps how many laps did each child swim?
5608 ... ——+7 Score ... .. 1" Score ... i _ _ _ /
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